N of reco track vs dxy [\ of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

1%} (%] %] [%]
x x < B4
[=} Q [=] o
g, g S 8
10 ot 103 ©
£ $o g
§
10° 310
10?
10?
10
1) SRTRRRC EEEEECEETEEEIPRLY. 'FEEPCEEY I 10] “SREE:
q ' 1
o |
e It Il MwJIHH IJ M IR T TNTHTIIT AN GO .. ™ T
I Nw ”1 i f iikhed 0.9F -
W HHHH‘HH ] H H - - ' R | | |15 .
095 il Ll 0.9 T S 0.8 5 o
=25-20-15- 0—5 0 5 10 15 20 25 =25-20-15-10-5 0 5 10 20 25 =25-20-15-10 5 0 5 10 1\, 20 25 =25-20-15-10-5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 L L 2
[=} Q [=] [5)
g g s s
o Q Q
E K] g
§
10° 1 S 10
1
o o oV
4 o
] ill ||| IIHJHWIIII' " | |i
h . . . . .
0.9 | I 0.9 “ I 0. H H el 0.95! H H H
—%O -20 10 2 30 0 -20 2 30 30 =30 -20 -10 0 10 20

30
track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


